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1)

Question Stimulus :­

Fill in the blank with the correct option.

I'm busy at the moment _____ you call back later?

can

must

might

should

Correct Answer :­can 

2)

Question Stimulus :­

Fill in the blank with the correct option.

Excuse me, _____ I just say something?

could

might

dare

must

Correct Answer :­could 

3)

Question Stimulus :­

Fill in the blank with the correct option.

If you were offered an overseas posting, _____ you take it?

might



must

mustn’t

would

Correct Answer :­would 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

Her novels have been translated _____ 19 languages.

into

beyond

by

off

Correct Answer :­into 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

Running is an excellent way to burn _____ excess calories.

by

into

for

off

Correct Answer :­off 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.

The children go to bed _____ nine o'clock.



at

on

in

with

Correct Answer :­at 

7)

Question Stimulus :­

Fill in the blank with the correct prepositions.

She's sitting ____ the table _____ the corner.

at, in

on, from

in, on

within, off

Correct Answer :­at, in 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

While climbing the hill, to his amazement,

the shepherd found

the box of pearls.

No error

Correct Answer :­the box of pearls. 

9)

Question Stimulus :­



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Akbar became a heir

to the throne

at a young age of thirteen.

No error

Correct Answer :­Akbar became a heir 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Due to its natural beauty

Kashmir is known as

Switzerland of India.

No error

Correct Answer :­Switzerland of India. 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If I had accepted that promotion,

I would have been

working in Milan today.

No error

Correct Answer :­No error 

12)



12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

By the time I reached

the theatre,

the show had started.

No error

Correct Answer :­No error 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

My maternal uncle

has been living in Delhi

since five years.

No error.

Correct Answer :­since five years. 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If he will prepare a little more,

he will definitely clear

the first round of competition.

No error



Correct Answer :­If he will prepare a little more, 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If he forget to pay his rent,

his landlady would

send him a reminder.

No error

Correct Answer :­If he forget to pay his rent, 

16)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

They said, “We’ve lived here for a long time”.

They said that they had lived there for a long time.

They said that they were living here for a long time.

They said that they were living there for a long time.

They said that they have been living here for a long time.

Correct Answer :­They said that they had lived there for a long time. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The Principal told the Children, “wait here till I return”.

The Principal told the Children to wait here till I return.

The Principal told the Children to wait there till he returns.



The Principal told the Children to wait here till he returned.

The Principal told the Children to wait there till he returned.

Correct Answer :­The Principal told the Children to wait there till he returned. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the students, “If you do your best you will surely pass”.

The teacher told the students that If they do their best they will surely pass.

The teacher told the students that If they did their best they will surely pass.

The teacher told the students that If they had done their best they would surely
pass.

The teacher told the students that If they did their best they would surely pass.

Correct Answer :­The teacher told the students that If they did their best they would
surely pass. 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Why did your father refuse to give you money?

Why were the money refused to be given to you by your father.

Why had the money been refused to be given to you by your father.

Why was the money being refused to be given to you by your father.

Why was the money refused to be given to you by your father.

Correct Answer :­Why was the money refused to be given to you by your father. 

20)

Question Stimulus :­



Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The minister had already informed his cabinet about his decision.

His cabinet had already been informed about his decision by the minister.

His cabinet has already been informed about his decision by the minister.

His cabinet have already been informed about his decision by the minister.

His cabinet is already being informed about his decision by the minister.

Correct Answer :­His cabinet had already been informed about his decision by the
minister. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are your parents expected to come today from Hyderabad?

Do you expect your parents to come from Hyderabad today?

Did you expect your parents to come from Hyderabad today?

Have you expected your parents to come from Hyderabad today?

Were you expecting your parents to come from Hyderabad today?

Correct Answer :­Do you expect your parents to come from Hyderabad today? 

22)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

Please give me a glass of water and an ice cube.

Please give me an glass of water and a ice cube.

Please give me the glass of water and a ice cube.

Please give me a glass of water and a ice cube.

Correct Answer :­Please give me a glass of water and an ice cube. 



23)

Question Stimulus :­

Fill in the blank with the correct option.

My friend has lent me ______ books and notes for my half­yearly exams.

few

a few

the few

a little

Correct Answer :­a few 

24)

Question Stimulus :­

Fill in the blank with the correct option.

My father always keeps aside _____ money for an emergency.

little

a little

the little

a few

Correct Answer :­a little 

25)

Question Stimulus :­

Fill in the blank with the correct option.

He has invited ______ friends tonight for dinner.

few

a few

the few

a little



Correct Answer :­a few 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non­smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day­to­day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

 

What is the meaning of the word ‘injurious’?

beneficial

complementary

harmful

essential

Correct Answer :­harmful 

27)

Question Stimulus :­



DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non­smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day­to­day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

 

Why is a smoker more prone to diseases as compared to a non­smoker?

Because of heredity

Because of lower resistance and a weak immune system

Because of weak digestive system

None of the above

Correct Answer :­Because of lower resistance and a weak immune system 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.



Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non­smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day­to­day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

 

“The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start”, what does the word ‘counter’ suggest here?

To have an affinity for something

To react to something with an opposing opinion or action, or to defend yourself
against something

To offer something in exchange

None of the above

Correct Answer :­To react to something with an opposing opinion or action, or to
defend yourself against something 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity



system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non­smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to
rapid heartbeat and shortage of breath. There are also many other day­to­day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

 

What is the meaning of the word ‘nausea’?

Total unconsciousness

A feeling of sickness with an inclination to vomit

A type of brain fever

None of the above

Correct Answer :­A feeling of sickness with an inclination to vomit 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

Smoking is defined as the act of smelling or inhaling the smoke of a substance, mostly
tobacco. Cigarettes, pipes and hookahs are the most popular methods of smoking and
hence, also the most injurious smoking elements for health. Smoking has been known
to cause many problems. Not only is it a major cause of pollution but it also is one of
the leading causes of premature death in developed countries.

Smoking can lead to many kinds of heart and lung diseases, two of the most essential
organs of the human body. Different kinds of cancers are caused by smoking, the most
common being lung and throat cancer. Smoking can also decrease the body's immunity
system. Due to this, a smoker is more prone to diseases such as bronchitis and
pneumonia as compared to a non­smoker. The commonly used slogans to educate
people that smoking is injurious to health are usually right. On an estimated average,
smoking takes away between 5 to 20 minutes of a person's lifespan with every
cigarette.

Smoking can cause weaker bones and yellow teeth. Wrinkling and bad skin can also
occur with time. Stamina is also reduced due to decreased blood circulation leading to



rapid heartbeat and shortage of breath. There are also many other day­to­day issues
related with smoking such as bad breath as well as bad smell from hair and hands.

The human body knows that smoking is injurious to health; therefore, it tries to
counter it at the start. That is why coughing, sore throat, nausea and other negative
feelings are aroused in the body when a person tries to smoke the first time. So, one
should try to stay away from smoking.

 

Why is smoking hazardous to health?

It causes Lung and throat cancer

It can cause many heart and lung diseases

Smoking weakens the immune system and can lead to bronchitis and pneumonia

All of the above

Correct Answer :­All of the above 

Topic:­ Hindi
1)

Question Stimulus :­

िन堀�िल᠀⌅खत ग鼀ꘅाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

नशा हमारे दशे की 开뼄मखु सम븀⬆ा बन चकुी ह।ै इसके कारण 开뼄ितिदन अनके घर बरबाद हो रह ेह嘀堅। नशा करन ेवालो ंका जीवन अꄀ
होता ह।ै राजा­महाराजा और ꤀缆ोता­वग开뼄 सिृ嘀堅 के आरंभ स ेराजकीय पये के नात ेसरुा का उपयोग करत ेरह ेह嘀堅। यही राजकीय पये
जनता के बीच पꨀ⸄चँा। भारतीय गरीब और म笀帄मवग堀딄 जनता न ेजीवन की िनराशा और गम को कम करन ेके िलए सरुा को
अपनाया। वह नश ेकी म븀眅ी म뀅 अपन ेको सखुी अनभुव करन ेलग ेऔर धीरे­धीरे सरुापान एक 崁뀅सन बन गया। पᬁ뀅रणामतः सरुापान
को भयकंर सामािजक बरुाई तथा जीवन के िलए अिभशाप माना जान ेलगा। शराबी को शराब के िलए ऋण लने ेया नारी के आभषूण
को बचे दने ेम뀅 कोई बरुाई नजर नही ंआती। अ⤀琅ी शराब न जटुा पान ेपर वह घिटया शराब पीकर यमलोक पꨀ⸄चँ जाता ह।ै

 

इस ग鼀ꘅ म뀅 िकस सम븀⬆ा को उठाया गया ह?ै

चोरी

घसुखोरी

नशा

हꄀ밂ा

Correct Answer :­नशा 

2)



Question Stimulus :­

िन堀�िल᠀⌅खत ग鼀ꘅाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

नशा हमारे दशे की 开뼄मखु सम븀⬆ा बन चकुी ह।ै इसके कारण 开뼄ितिदन अनके घर बरबाद हो रह ेह嘀堅। नशा करन ेवालो ंका जीवन अꄀ
होता ह।ै राजा­महाराजा और ꤀缆ोता­वग开뼄 सिृ嘀堅 के आरंभ स ेराजकीय पये के नात ेसरुा का उपयोग करत ेरह ेह嘀堅। यही राजकीय पये
जनता के बीच पꨀ⸄चँा। भारतीय गरीब और म笀帄मवग堀딄 जनता न ेजीवन की िनराशा और गम को कम करन ेके िलए सरुा को
अपनाया। वह नश ेकी म븀眅ी म뀅 अपन ेको सखुी अनभुव करन ेलग ेऔर धीरे­धीरे सरुापान एक 崁뀅सन बन गया। पᬁ뀅रणामतः सरुापान
को भयकंर सामािजक बरुाई तथा जीवन के िलए अिभशाप माना जान ेलगा। शराबी को शराब के िलए ऋण लने ेया नारी के आभषूण
को बचे दने ेम뀅 कोई बरुाई नजर नही ंआती। अ⤀琅ी शराब न जटुा पान ेपर वह घिटया शराब पीकर यमलोक पꨀ⸄चँ जाता ह।ै

 

गरीबो ंन ेसरुा को 茀혂ो ंअपनाया?

गम कम करन ेके िलए

मार­पीट के िलए

भीख मागंन ेके िलए

िदखाव ेके िलए

Correct Answer :­गम कम करन ेके िलए 

3)

Question Stimulus :­

िन堀�िल᠀⌅खत ग鼀ꘅाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

नशा हमारे दशे की 开뼄मखु सम븀⬆ा बन चकुी ह।ै इसके कारण 开뼄ितिदन अनके घर बरबाद हो रह ेह嘀堅। नशा करन ेवालो ंका जीवन अꄀ
होता ह।ै राजा­महाराजा और ꤀缆ोता­वग开뼄 सिृ嘀堅 के आरंभ स ेराजकीय पये के नात ेसरुा का उपयोग करत ेरह ेह嘀堅। यही राजकीय पये
जनता के बीच पꨀ⸄चँा। भारतीय गरीब और म笀帄मवग堀딄 जनता न ेजीवन की िनराशा और गम को कम करन ेके िलए सरुा को
अपनाया। वह नश ेकी म븀眅ी म뀅 अपन ेको सखुी अनभुव करन ेलग ेऔर धीरे­धीरे सरुापान एक 崁뀅सन बन गया। पᬁ뀅रणामतः सरुापान
को भयकंर सामािजक बरुाई तथा जीवन के िलए अिभशाप माना जान ेलगा। शराबी को शराब के िलए ऋण लने ेया नारी के आभषूण
को बचे दने ेम뀅 कोई बरुाई नजर नही ंआती। अ⤀琅ी शराब न जटुा पान ेपर वह घिटया शराब पीकर यमलोक पꨀ⸄चँ जाता ह।ै

 

घिटया शराब पीकर लोग कहा ँपꨀ⸄चँ जात ेह嘀堅?

घर

यमलोक

अनाथालय

अ最焆ताल



Correct Answer :­यमलोक 

4)

Question Stimulus :­

िन堀�िल᠀⌅खत ग鼀ꘅाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

नशा हमारे दशे की 开뼄मखु सम븀⬆ा बन चकुी ह।ै इसके कारण 开뼄ितिदन अनके घर बरबाद हो रह ेह嘀堅। नशा करन ेवालो ंका जीवन अꄀ
होता ह।ै राजा­महाराजा और ꤀缆ोता­वग开뼄 सिृ嘀堅 के आरंभ स ेराजकीय पये के नात ेसरुा का उपयोग करत ेरह ेह嘀堅। यही राजकीय पये
जनता के बीच पꨀ⸄चँा। भारतीय गरीब और म笀帄मवग堀딄 जनता न ेजीवन की िनराशा और गम को कम करन ेके िलए सरुा को
अपनाया। वह नश ेकी म븀眅ी म뀅 अपन ेको सखुी अनभुव करन ेलग ेऔर धीरे­धीरे सरुापान एक 崁뀅सन बन गया। पᬁ뀅रणामतः सरुापान
को भयकंर सामािजक बरुाई तथा जीवन के िलए अिभशाप माना जान ेलगा। शराबी को शराब के िलए ऋण लने ेया नारी के आभषूण
को बचे दने ेम뀅 कोई बरुाई नजर नही ंआती। अ⤀琅ी शराब न जटुा पान ेपर वह घिटया शराब पीकर यमलोक पꨀ⸄चँ जाता ह।ै

 

राजा­महाराजा के िलए राजकीय पये 茀혂ा था?

दूध

दही

पानी

सरुा

Correct Answer :­सरुा 

5)

Question Stimulus :­

िन堀�िल᠀⌅खत ग鼀ꘅाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

नशा हमारे दशे की 开뼄मखु सम븀⬆ा बन चकुी ह।ै इसके कारण 开뼄ितिदन अनके घर बरबाद हो रह ेह嘀堅। नशा करन ेवालो ंका जीवन अꄀ
होता ह।ै राजा­महाराजा और ꤀缆ोता­वग开뼄 सिृ嘀堅 के आरंभ स ेराजकीय पये के नात ेसरुा का उपयोग करत ेरह ेह嘀堅। यही राजकीय पये
जनता के बीच पꨀ⸄चँा। भारतीय गरीब और म笀帄मवग堀딄 जनता न ेजीवन की िनराशा और गम को कम करन ेके िलए सरुा को
अपनाया। वह नश ेकी म븀眅ी म뀅 अपन ेको सखुी अनभुव करन ेलग ेऔर धीरे­धीरे सरुापान एक 崁뀅सन बन गया। पᬁ뀅रणामतः सरुापान
को भयकंर सामािजक बरुाई तथा जीवन के िलए अिभशाप माना जान ेलगा। शराबी को शराब के िलए ऋण लने ेया नारी के आभषूण
को बचे दने ेम뀅 कोई बरुाई नजर नही ंआती। अ⤀琅ी शराब न जटुा पान ेपर वह घिटया शराब पीकर यमलोक पꨀ⸄चँ जाता ह।ै

 

नशा करन ेवालो ंका जीवन कैसा होता ह?ै

सखुी

दखुी



अꄀ

आरामदायक

Correct Answer :­अꄀ 

6)

Question Stimulus :­

िन堀�िल᠀⌅खत का崁뀅ाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

यहा ँकोिकला नही,ं काक ह嘀堅 शोर मचात।े

काल­ेकाल ेकीट, ⤀琅मर का ⤀琅म उपजात।े।

किलया ँभी अध᠀⌅खली, िमली ह嘀堅 कंटक­कुल स।े

व ेपौध,े व ेप᠀ु㘆, श嘀ु堅 ह嘀堅 अथवा झलुस।े।

पᬁ뀅रमल­हीन पराग दाग­सा बना पड़ा ह।ै

हा!ँ यह ᄀ将ारा बाग खनू स ेसना पड़ा ह।ै।

आओ ि开뼄य ऋतरुाज! िकꀎ偐 ुधीरे स ेआना।

यह ह ैशोक­�थान यहा ँमत शोर मचाना।।

वाय ुचल ेपर मदं चाल स ेउस ेचलाना।

दखु की आह뀅 सगं उड़ाकर मत ल ेजाना।।

कोिकल गाव,े िकंत ुराग रोन ेका आव।े

⤀琅मर करे गुंजार, क嘀堅 की कथा सनुाव।े।

 

किव ऋतरुाज स े茀혂ा 开뼄ाथ开뼄ना कर रहा ह?ै

दखु का उड़ाकर ल ेजान ेकी

शोर मचान ेकी

धीरे स ेआन ेकी

शोक करन ेकी

Correct Answer :­धीरे स ेआन ेकी 

7)



Question Stimulus :­

िन堀�िल᠀⌅खत का崁뀅ाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

यहा ँकोिकला नही,ं काक ह嘀堅 शोर मचात।े

काल­ेकाल ेकीट, ⤀琅मर का ⤀琅म उपजात।े।

किलया ँभी अध᠀⌅खली, िमली ह嘀堅 कंटक­कुल स।े

व ेपौध,े व ेप᠀ु㘆, श嘀ु堅 ह嘀堅 अथवा झलुस।े।

पᬁ뀅रमल­हीन पराग दाग­सा बना पड़ा ह।ै

हा!ँ यह ᄀ将ारा बाग खनू स ेसना पड़ा ह।ै।

आओ ि开뼄य ऋतरुाज! िकꀎ偐 ुधीरे स ेआना।

यह ह ैशोक­�थान यहा ँमत शोर मचाना।।

वाय ुचल ेपर मदं चाल स ेउस ेचलाना।

दखु की आह뀅 सगं उड़ाकर मत ल ेजाना।।

कोिकल गाव,े िकंत ुराग रोन ेका आव।े

⤀琅मर करे गुंजार, क嘀堅 की कथा सनुाव।े।

 

किव बसतं को बाग म뀅 धीरे स ेआन ेकी 开뼄ाथ开뼄ना 茀혂ो ंकर रहा ह?ै

यह शोक का �थान है

यहा ँभौरे रह ेह嘀堅

यहा ँकौए शोर मचा रह ेह嘀堅

यहा ँठंडी हवा चल रही है

Correct Answer :­यह शोक का �थान ह ै

8)

Question Stimulus :­

िन堀�िल᠀⌅खत का崁뀅ाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

यहा ँकोिकला नही,ं काक ह嘀堅 शोर मचात।े

काल­ेकाल ेकीट, ⤀琅मर का ⤀琅म उपजात।े।



किलया ँभी अध᠀⌅खली, िमली ह嘀堅 कंटक­कुल स।े

व ेपौध,े व ेप᠀ु㘆, श嘀ु堅 ह嘀堅 अथवा झलुस।े।

पᬁ뀅रमल­हीन पराग दाग­सा बना पड़ा ह।ै

हा!ँ यह ᄀ将ारा बाग खनू स ेसना पड़ा ह।ै।

आओ ि开뼄य ऋतरुाज! िकꀎ偐 ुधीरे स ेआना।

यह ह ैशोक­�थान यहा ँमत शोर मचाना।।

वाय ुचल ेपर मदं चाल स ेउस ेचलाना।

दखु की आह뀅 सगं उड़ाकर मत ल ेजाना।।

कोिकल गाव,े िकंत ुराग रोन ेका आव।े

⤀琅मर करे गुंजार, क嘀堅 की कथा सनुाव।े।

 

किव बसतं स ेफूलो ंको लान ेकी 开뼄ाथ开뼄ना 茀혂ो ंकर रहा ह?ै

꤀缆堀缄ाभाव 开뼄गट करन ेके िलए

बाग को सुंदर बनान ेके िलए

बाग म뀅 सगुधं लान ेके िलए

वातावरण को खबूसरूत बनान ेके िलए

Correct Answer :­꤀缆堀缄ाभाव 开뼄गट करन ेके िलए 

9)

Question Stimulus :­

िन堀�िल᠀⌅खत का崁뀅ाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

यहा ँकोिकला नही,ं काक ह嘀堅 शोर मचात।े

काल­ेकाल ेकीट, ⤀琅मर का ⤀琅म उपजात।े।

किलया ँभी अध᠀⌅खली, िमली ह嘀堅 कंटक­कुल स।े

व ेपौध,े व ेप᠀ु㘆, श嘀ु堅 ह嘀堅 अथवा झलुस।े।

पᬁ뀅रमल­हीन पराग दाग­सा बना पड़ा ह।ै

हा!ँ यह ᄀ将ारा बाग खनू स ेसना पड़ा ह।ै।

आओ ि开뼄य ऋतरुाज! िकꀎ偐 ुधीरे स ेआना।



यह ह ैशोक­�थान यहा ँमत शोर मचाना।।

वाय ुचल ेपर मदं चाल स ेउस ेचलाना।

दखु की आह뀅 सगं उड़ाकर मत ल ेजाना।।

कोिकल गाव,े िकंत ुराग रोन ेका आव।े

⤀琅मर करे गुंजार, क嘀堅 की कथा सनुाव।े।

 

बाग खनू स े茀혂ो ंसना ꨀ⸄आ ह?ै

िकसी एक ही हꄀ밂ा की गई

अनके लोगो ंको मꄀृ밂 ुके घाट उतारा गया है

िकसी प堀딄ी की हꄀ밂ा की गई है

उपरो쬀ꀅ सभी

Correct Answer :­अनके लोगो ंको मꄀृ밂 ुके घाट उतारा गया ह ै

10)

Question Stimulus :­

िन堀�िल᠀⌅खत का崁뀅ाशं को 笀帄ानपवू开뼄क पढ़कर उनके नीच ेिदय ेगय ेबꨀ⸄िवकꄀी 开뼄� नो ंम뀅 सही िवकꄀ का चयन कर뀅।

 

यहा ँकोिकला नही,ं काक ह嘀堅 शोर मचात।े

काल­ेकाल ेकीट, ⤀琅मर का ⤀琅म उपजात।े।

किलया ँभी अध᠀⌅खली, िमली ह嘀堅 कंटक­कुल स।े

व ेपौध,े व ेप᠀ु㘆, श嘀ु堅 ह嘀堅 अथवा झलुस।े।

पᬁ뀅रमल­हीन पराग दाग­सा बना पड़ा ह।ै

हा!ँ यह ᄀ将ारा बाग खनू स ेसना पड़ा ह।ै।

आओ ि开뼄य ऋतरुाज! िकꀎ偐 ुधीरे स ेआना।

यह ह ैशोक­�थान यहा ँमत शोर मचाना।।

वाय ुचल ेपर मदं चाल स ेउस ेचलाना।

दखु की आह뀅 सगं उड़ाकर मत ल ेजाना।।

कोिकल गाव,े िकंत ुराग रोन ेका आव।े

⤀琅मर करे गुंजार, क嘀堅 की कथा सनुाव।े।



 

का崁뀅ाशं के िलए उपय쬀ुꀅ शीष开뼄क ह?ै

ऋतरुाज

जिलयावाला बाग म뀅 बसतं

ᄀ将ारा बसतं

किव की 开뼄ाथ开뼄ना

Correct Answer :­जिलयावाला बाग म뀅 बसतं 

11)

Question Stimulus :­

एक स ेअिधक उपसगᰀꐆ स ेबना शꨀ項 नही ंह­ै

असरुि堀딄त

अꄀ밂ाचार

अधकचरा

पया开뼄वरण

Correct Answer :­अधकचरा 

12)

Question Stimulus :­

‘‘最焆堀ृ倅’’ श� द को िवलोमाथ开뼄क बनान ेके िलए िकस उपसग开뼄 का 开뼄योग कर뀅ग?े

िन

अनु

अ

कु

Correct Answer :­अ 

13)

Question Stimulus :­

开뼄ꄀ밂य जोड़ा जाता ह­ै



श� द के 开뼄ारंभ म뀅

श� द के अतं म뀅

श� द के म笀帄 म뀅

इनम뀅 स ेकोई नहीं

Correct Answer :­श� द के अतं म뀅 

14)

Question Stimulus :­

िह븀眅ी म뀅 कृत 开뼄ꄀ밂यो ंकी स娀ं項ा िकतनी ह?ै

अ대琉ाइस

तीस

चालीस

पचास

Correct Answer :­अ대琉ाइस 

15)

Question Stimulus :­

‘븀䈆ोपदी का चीर’ महुावरे का सही अथ开뼄 ह­ै

नारी का अपमान करना

शम开뼄नाक काय开뼄

कभी समा븀欉 न होना

इनम뀅 स ेकोई नहीं

Correct Answer :­कभी समा븀欉 न होना 

16)

Question Stimulus :­

“मरेा बटेा आशीष मरेी आखं का तारा ह।ै” रेखािंकत महुावरे का अथ开뼄 ह­ै

बꨀ⸄त सुंदर



बꨀ⸄त ब᠀ु⌅堀缄मान

बꨀ⸄त ि开뼄य

बꨀ⸄त समझदार

Correct Answer :­बꨀ⸄त ि开뼄य 

17)

Question Stimulus :­

“बरसात म뀅 म⤀琅र नाक म뀅 दम कर दते ेह嘀堅।“ रेखािंकत महुावरे का अथ开뼄 ह­ै

सासं न लने ेदनेा

सोन ेन दनेा

बꨀ⸄त परेशान करना

开뼄दूषण फैलाना

Correct Answer :­बꨀ⸄त परेशान करना 

18)

Question Stimulus :­

िदय ेगय ेवा茀혂ाशं के िलए एक श� द का 开뼄योग कीिजए­

‘िवशषे शासकीय प븀䈆 िजसम뀅 िकसी 崁뀅᠀⌅쬀ꀅ का उ꤀缆वल प堀딄 开뼄ितपािदत िकया जाता ह’ै

लालप븀䈆

हᬁ뀅रतप븀䈆

� वतेप븀䈆

इनम뀅 स ेकोई नहीं

Correct Answer :­� वतेप븀䈆 

19)

Question Stimulus :­

िदय ेगय ेवा茀혂ाशं के िलए एक श� द का 开뼄योग कीिजए­

‘समान 븀ᤅप स ेआग ेबढ़न ेकी च嘀堅ा’

开뼄ꄀ밂㔀ु쀆븀锇मित



开뼄ित最焆堀缄ा开뼄

开뼄णḀ㔅

开뼄ꄀ밂पुकार

Correct Answer :­开뼄ित最焆堀缄ा开뼄 

20)

Question Stimulus :­

इस प᠀ं⌅쬀ꀅ म뀅 कौन­सा छंद ह।ै

‘‘दशक鷿밂 रे शठ छािँड़ द ेहठ, बार बार न बोिलय।े

अब आज ुराजसमाज म뀅 बल, साज ुिच븀� न डोिलय।े।"

दोहा

चौपाई

सोरठा

गीितका

Correct Answer :­गीितका 

21)

Question Stimulus :­

िह븀眅ी किवता म뀅 ꨀ帅⤀琅븀眅 छंद­रचना का स븀ू䈆पात िन堀�िल᠀⌅खत म뀅 स뀅 िकसन ेिकया था।

जयशकंर 开뼄साद

मिैथिलशरण ग븀ु欉

अयो笀帄ा िसहं उपा笀帄ाय ‘हᬁ뀅रऔध’

सयू开뼄कातं ि븀䈆पाठी िनराला

Correct Answer :­सयू开뼄कातं ि븀䈆पाठी िनराला 

22)

Question Stimulus :­

अपन ेसग ेसबंिंधयो,ं िम븀䈆ो ंको िलख ेजान ेवाला प븀䈆..............प븀䈆 की ꤀缆णेी म뀅 आता ह嘀堅।

崁뀅ापाᬁ뀅रक



सरकारी

सामािजक

सपंादक के नाम

Correct Answer :­सामािजक 

23)

Question Stimulus :­

िन堀� म뀅 स ेश堀ु缄 वत开뼄नी का चयन कीिजए­

आन븀ं眅

आिश开뼄वा开뼄द

आमᨁू뀅

आशकंा

Correct Answer :­आशकंा 

24)

Question Stimulus :­

िन堀� म뀅 स ेअश堀ु缄 वत开뼄नी का चयन कीिजए­

ईनाम

अनव櫿堅क

उद्घोष

उपासक

Correct Answer :­अनव櫿堅क 

25)

Question Stimulus :­

लहदँा िकस �थान की भाषा ह?ै

पवू堀딄 पजंाब

पि嘀堅मी पजंाब



बगंलादशे

कोकण

Correct Answer :­पि嘀堅मी पजंाब 

26)

Question Stimulus :­

िव� व म뀅 कुल िकतनी भाषाएं मा⤀琅ता 开뼄ा븀欉 ह嘀堅?

400

2796

178

179

Correct Answer :­2796 

27)

Question Stimulus :­

िन堀� म뀅 स े‘तालाब’ का पया开뼄यवाची नही ंह­ै

सरोवर

प嘀ु堅र

樀糖वुनदंा

प堀縅ाकर

Correct Answer :­樀糖वुनदंा 

28)

Question Stimulus :­

‘दावानल’ िन堀� म뀅 स ेिकसका पया开뼄यवाची ह­ै

वड़वानल

वनꨀ⸄ताशन

अनल



अिनल

Correct Answer :­वनꨀ⸄ताशन 

29)

Question Stimulus :­

‘चकवा’ का तꨀ댅म श� द है

चꨀ琄वात

चꨀ琄वाक

च堀딄ु

इनम뀅 स ेकोई नहीं

Correct Answer :­चꨀ琄वाक 

30)

Question Stimulus :­

‘चणक’ का त밂व श� द है

खीर

खपरा

चना

पलगं

Correct Answer :­चना 

31)

Question Stimulus :­

ꨀ帅र सिंध का उदाहरण कौन­सा ह?ै

वागीश

िदग밂र

र᠀ᰆाकर

द嘀ु堅म开뼄



Correct Answer :­र᠀ᰆाकर 

32)

Question Stimulus :­

‘崁뀅थ开뼄’ श� द म뀅 िकन वणᰀꐆ की सिंध ꨀ⸄ई ह?ै

इ+अ

इ+उ

इ+ए

ई+अ

Correct Answer :­इ+अ 

33)

Question Stimulus :­

‘उ堀缄रण’ का सिंध िव⤀琅दे ह­ै

उत+्धरण

उत+्अण

उत+्हरण

उ堀缄+रण

Correct Answer :­उत+्हरण 

34)

Question Stimulus :­

िन堀� िल᠀⌅खत 6 वा茀혂ाशंो ंम뀅 स े开뼄थम व अिंतम िनि嘀堅त ह嘀堅, शषे को उिचत ꨀ琄म म뀅 崁뀅व᠀⌅�थत कीिजए।

(1) गोꨀ帅ामी तलुसीदास ने

(य) कामना करन ेवाल ेकिपमखु

(र) अवतारणा कर सोन ेम뀅 सगुधंी

(ल) नारद को िश� ट हा븀⬆ की

(व) ‘मानस’ म뀅 िव� व सुंदरी की 

(6) ला दी ह।ै



ल र य व

व ल य र

व य ल र

य ल र व

Correct Answer :­व य ल र 

35)

Question Stimulus :­

िन堀� िल᠀⌅खत 6 वा茀혂ाशंो ंम뀅 स े开뼄थम व अिंतम िनि嘀堅त ह嘀堅, शषे को उिचत ꨀ琄म म뀅 崁뀅व᠀⌅�थत कीिजए।

(1)   भारत म뀅 प븀ुᤅषो ंऔर ᠀⌅븀眅यो ंकी

(य)   व᠀ृ⌅堀缄 ꨀ⸄ई ह ैवह

(र)   औसत आय ुम뀅 जो

(ल)   उसस े开뼄जनन सयंोग

(व)   अिभनदंनीय ह ैिकंत ु

(6)  की अविध म뀅 भी व᠀ृ⌅堀缄 ꨀ⸄ई ह।ै

र य व ल

र व य ल

ल य व र

व र ल य

Correct Answer :­र य व ल 

36)

Question Stimulus :­

“कै­कै कारण रोव ैवाला, जन ुटूट ैमोित븀찆 कै माला”

उपय开ु뼄쬀ꀅ प᠀ं⌅쬀ꀅयो ंम뀅 कौन सा अलकंार ह?ै

开뼄तीप

उपमा

दीपक



उ笀帄堀े딄ा

Correct Answer :­उ笀帄堀े딄ा 

37)

Question Stimulus :­

“पाऊय महावर दने को, नायन बठैी आइ।

िफर िफर जान महावरी, ऐडी िमडित जाइ।।”

उपय开ु뼄쬀ꀅ दोह ेम뀅 कौन सा अलकंार ह?ै

उ笀帄堀े딄ा

उपमा

⤀琅ािंतमान

सदंहे

Correct Answer :­⤀琅ािंतमान 

38)

Question Stimulus :­

िन堀� म뀅 स뀅 श堀ु缄 वा茀혂 छािँटए ­

लने­दने बरुा ᬁ뀅रवाज़ ह ैदहजे का।

बरुा ᬁ뀅रवाज़ ह ैलने­दने दहजे का।

दहजे का लने­दने बरुा ᬁ뀅रवाज़ ह।ै

लने­दने बरुा ़ह ैदहजे का।

Correct Answer :­दहजे का लने­दने बरुा ᬁ뀅रवाज़ ह।ै 

39)

Question Stimulus :­

िन堀� म뀅 स뀅 अश堀ु缄 वा茀혂 छािँटए ­

तमु सबस ेसुंदर हो।

तमु भी कहत ेथ।े

तमुन ेप븀䈆 िलखा।



तमु सबस ेसुंदरतम हो।

Correct Answer :­तमु सबस ेसुंदरतम हो। 

40)

Question Stimulus :­

िन堀� वा茀혂ाशं का स堀ं딄पेण कीिजए­

मन堀ु倅 म뀅 योꨀ帅ता हो, श᠀⌅쬀ꀅ हो और बाहर स े开뼄रेणा भी हो, िकंत ुमन म뀅 तीꄀ댅 चाह न हो तो सफलता नही ंिमल सकती। मन堀ु倅 की
सबस ेबडी श᠀⌅쬀ꀅ ह­ै इ⤀琅ा श᠀⌅쬀ꀅ । उसी के कारण मन堀ु倅 उꨀ댅ािहत होता ह ैऔर उसी के कारण िदन रात जझूता ह।ै उसका आ嬀긄
बल भी जागता ह।ै जब उसके मन म ेउमगं और तरंग जाग उठती ह।ै अगर मन堀ु倅 म ेस开뼄ी लगन हो तो किठन स ेकिठन काम भी
सरल लगन ेलगता ह।ै

िनराशा छोड़ो काम करो

नर हो न िनराश करो मन को

जहा ँचाह वहा ँराह

इनम뀅 स ेकोई नहीं

Correct Answer :­जहा ँचाह वहा ँराह 

41)

Question Stimulus :­

इनम뀅 स ेकौन­सा िवकꄀ बाकी तीनो ंिवकꄀो ंस ेपरूी तरह अलग ह ै?

वाचाल

गूंगा

चपु

मकू

Correct Answer :­वाचाल 

42)

Question Stimulus :­

िन堀� म뀅 स े‘ह븀眅ी’ श� द का अनकेाथ堀딄 श� द ह­ै

हसं

कर



ह�थी

अ᠀⌅븀眅嬀攄

Correct Answer :­अ᠀⌅븀眅嬀攄 

43)

Question Stimulus :­

‘बधंन’ के िलए िवलोम श� द होगा­

िछछला

गहरा

जगंम

इनम뀅 स ेकोई नहीं

Correct Answer :­इनम뀅 स ेकोई नही ं

44)

Question Stimulus :­

‘क᠀⌅ꄀत’ का िवलोम इनम뀅 स ेनही ंह­ै

अक᠀⌅ꄀत

यथा开뼄थ

कꄀनीय

उपय开ु뼄쬀ꀅ सभी िवलोम ह嘀堅

Correct Answer :­कꄀनीय 

45)

Question Stimulus :­

िन堀� म뀅 स ेिजस िवकꄀ म뀅 िवराम िचहं का सही उपयोग ꨀ⸄आ ह,ै उसका चयन कीिजए­

पापी; हट जा मरेे सामन ेस!े

पापी! हट जा मरेे सामन ेस।े

पापी हट जा, मरेे सामन ेस।े



पापी­हट­जाः मरेे सामन ेसे

Correct Answer :­पापी! हट जा मरेे सामन ेस।े 

46)

Question Stimulus :­

का崁뀅 का ꤀缆ृंगार ह­ै

अलकंार

रस

छंद

अलकंार+छंद

Correct Answer :­अलकंार+छंद 

47)

Question Stimulus :­

‘छल’ नामक चौतीसवा ँसचंारी भाव मानन ेवाल ेआचाय开뼄 ह嘀堅­

अिभनव ग븀ु欉

आचाय开뼄 श茀ु혂

केशव दास

किव दवे

Correct Answer :­किव दवे 

48)

Question Stimulus :­

सवा开뼄िधक 开뼄ाचीन सꀀ밂दाय ह­ै

वꨀ琄ो᠀⌅쬀ꀅ

अलकंार

रस

रीित



Correct Answer :­रस 

49)

Question Stimulus :­

‘‘मानस हसं’’ के लखेक का नाम 茀혂ा ह?ै

जयशकंर 开뼄साद

开뼄मेचदं

महावीर 开뼄साद ि븀眅वदेी

अमतृलाल नागर

Correct Answer :­अमतृलाल नागर 

50)

Question Stimulus :­

‘‘बदु्धू का काटंा’’ नामक कहानी के कहानीकार कौन ह嘀堅?

कृ᠀㘆च븀䈆

च븀䈆धर शमा开뼄 गलुरेी

मशंी 开뼄मेच븀䈆

केशवदास

Correct Answer :­च븀䈆धर शमा开뼄 गलुरेी 

51)

Question Stimulus :­

आकंठ पि븀䈆का िकस शहर स ेसबंिंधत ह ै?

िविदशा

िपपᬁ뀅रया

रतलाम

कटनी

Correct Answer :­िपपᬁ뀅रया 



52)

Question Stimulus :­

िन堀� पहलेी का सही उ븀�र चिुनए ­

‘‘हᬁ뀅रना के सीगं ठकाठक लाग,े ओकर गदूा बड़ मीठ लाग।े’’

बरे

जामनु

नाᬁ뀅रयल

आलाबखुारा

Correct Answer :­नाᬁ뀅रयल 

53)

Question Stimulus :­

िन堀� पहलेी का सही उ븀�र चिुनए ­

‘‘हरी िचरैया चौरई पूंछ, त ून बता पाय ेतो मा ँस ेपूंछ।’’

गाजर

मलूी

प븀�ागोभी

चकुंदर

Correct Answer :­मलूी 

54)

Question Stimulus :­

‘ओजꨀ帅ी’ का श堀ु缄 वत开뼄नी िव� लषेण होगा­

ओ+ज+्अ+स+व+ई

ओ+ज+अ+स+्व+्ई

ओ+ज+्अ+स+्व+्इ

ओ+ज+्अ+स+्व+्ई



Correct Answer :­ओ+ज+्अ+स+्व+्ई 

55)

Question Stimulus :­

‘‘प, फ, ब, भ, म ’’ उदाहरण ह­ै

ताल ू崁뀅जंन के

कंठ 崁뀅जंन के

ओ�눁뀅 崁뀅जंन के

दतंो�눁뀅 崁뀅जंन के

Correct Answer :­ओ�눁뀅 崁뀅जंन के 

56)

Question Stimulus :­

िन堀� म뀅 स ेकोई एक यꨀु帅 समो开뼄ाᬁ뀅रत ह,ै चयन कीिजए­

अवयव­अगं

अनसुार­अन븀ुᤅप

अनल­अिनल

अनसुार­ अवयव

Correct Answer :­अनल­अिनल 

57)

Question Stimulus :­

िन堀� 开뼄� न के श� द­यꨀु帅 के अथ开뼄­भदे म뀅 स ेकौन सा गलत ह?ै

अतल­अतलु = तलहीन­िजसकी तलुना न हो सके

अजर­अिजर = िजस ेबढ़ुापा नही ंआता­आगँन

अ븀锇­अ⤀琅 =अनाज­दूसरा

अꨀ숅­अवद = कमल­िपछला

Correct Answer :­अꨀ숅­अवद = कमल­िपछला 

58)



58)

Question Stimulus :­

िन堀� म뀅 स े‘‘开뼄ꄀ밂ािशत’’ श� द के समानाथ堀딄 श� द का चयन कीिजए­

सभंािवत

अव櫿堅भंावी

सꄀ밂

घिटत

Correct Answer :­सभंािवत 

59)

Question Stimulus :­

िन堀�िल᠀⌅खत वा茀혂 म뀅 स ेरेखािंकत श� द के समानाथ堀딄 श� द का चयन कीिजए­

 ‘‘उसका शरीर िम騀뀅ी का नही ंफौलाद का बना ꨀ⸄आ ह।ै’’

पाषाण

प逎偐र

धातु

इ最焆ात

Correct Answer :­इ最焆ात 

60)

Question Stimulus :­

븀眅�븀眅 समास का सही सामािसक पद चिुनए­

प᠀ु㘆धꀎ偐ी

िदवाराि븀䈆

ि븀䈆लोकी

मिं븀䈆पᬁ뀅रषद्

Correct Answer :­िदवाराि븀䈆 

61)



Question Stimulus :­

िन堀�िल᠀⌅खत शꨀ項ो ंम뀅 कम开뼄धाराय समास का उदाहरण नही ंह­ै

फूफा­फुआ

नीलकमल

नीलकंठ

नीलगाय

Correct Answer :­फूफा­फुआ 

62)

Question Stimulus :­

िन堀�िल᠀⌅खत म뀅 स뀅 एक श� द म뀅 ि븀眅ग ुसमास ह,ै उस श� द का चयन कीिजए­

पीताबंर

चव븀锇ी

प븀ुᤅष븀ᤅप

आजीवन

Correct Answer :­चव븀锇ी 

63)

Question Stimulus :­

िन堀� वा茀혂ो म뀅 स뀅 िम꤀缆 वा茀혂 का चयन कीिजए­

म嘀堅न ेखाना खाया।

राम का श븀䈆 ुमारा गया।

छह बज ेलौट आना।

म嘀堅 चाहता 븀ᤅ ँिक त븀ु娊ारे साथ खलेूँ।

Correct Answer :­म嘀堅 चाहता 븀ᤅ ँिक त븀ु娊ारे साथ खलेूँ। 

64)

Question Stimulus :­

‘‘िप븀ᤅ क�ᄀ将टूर ठीक करती ह?ै’’ म뀅 कौन­सा वा꤀缆 होगा­



कत开ृ뼄वा꤀缆

कम开뼄वा꤀缆

भाववा꤀缆

इनम뀅 स ेकोई नहीं

Correct Answer :­कम开뼄वा꤀缆 

65)

Question Stimulus :­

‘Postponement’ श� द का अथ开뼄 ह ै­

开뼄ा�थगन

�थगन

आ�थगन

इनम뀅 स ेकोई नहीं

Correct Answer :­�थगन 

66)

Question Stimulus :­

‘Gist’ श� द का अथ开뼄 ह­ै

भावाथ开뼄

अथ开뼄

यथाथ开뼄

शꨀ項ाथ开뼄

Correct Answer :­भावाथ开뼄 

67)

Question Stimulus :­

‘कही ंकी ईटं कही ंका रोड़ा, भानमुित न ेकुनवा जोड़ा’ लोको᠀⌅쬀ꀅ का 茀혂ा अथ开뼄 ह?ै

सामᘀ㔅开뼄हीन स ेहम कोई भी काय开뼄 नही ंकरा सकत।े



पᬁ뀅र᠀⌅�थित सदा एक सी नही ंरहती।

सभी साथी एक ही जसैे

कोई नवीनता नही,ं इधर­उधर स ेचीज뀅 लकेर कोई चीज तयैार करना।

Correct Answer :­कोई नवीनता नही,ं इधर­उधर स ेचीज뀅 लकेर कोई चीज तयैार करना। 

68)

Question Stimulus :­

‘टका सा मुँह लकेर रह जाना’ लोको᠀⌅쬀ꀅ का 茀혂ा अथ开뼄 ह?ै

अपमािनत होना

असमथ开뼄ता 开뼄कट करना

शिम最쨅दा होना

अनभुवहीन होना

Correct Answer :­शिम最쨅दा होना 

69)

Question Stimulus :­

‘एक िदन का पाꨀ⸄ना, दूज ेिदन अनखावना’ लोको᠀⌅쬀ꀅ का 茀혂ा अथ开뼄 ह ै?

दामाद को ससरुाल म뀅 अिधक नही ंरहना चािहए

महेमान थोड़ ेही समय म뀅 शतैान बन जाता है

अितिथ ܉䈀ादा नही ंरहता

अितिथ को कम समय म뀅 ही चल ेजाना चािहए

Correct Answer :­अितिथ को कम समय म뀅 ही चल ेजाना चािहए 

70)

Question Stimulus :­

िह븀眅ी के 开뼄थम गीत रचनाकार ह嘀堅­

गोपाल शमा开뼄

कृपाराम



िव鼀ꘅापित

सरूदास

Correct Answer :­िव鼀ꘅापित 

Topic:­ General Knowledge 
1)

Question Stimulus :­

Which among the following is not a source of a non­conventional energy? / िन堀�िल᠀⌅खत म뀅 स ेकौन एक अपारंपᬁ뀅रक
ऊजा开뼄 का 娀褅ोत नही ंह?ै

Petroleum Energy / पटे堀딄ोिलयम ऊजा开뼄

Wind Energy / वाय ुऊजा开뼄

Solar Energy / सौर ऊजा开뼄

Tidal Energy / ⴀ혇ारीय ऊजा开뼄

Correct Answer :­Petroleum Energy / पटे堀딄ोिलयम ऊजा开뼄 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: / िन堀� को
िमलाएं और नीच ेिदए गए कोडो ंके आधार पर सही उ븀�र का चयन कर뀅:

    List­I                    List­II

1. Bihar                      a. Shimla

2. West Bengal            b. Hyderabad

3. Andhra Pradesh       c. Kolkata

4. Himachal Pradesh     d. Patna

    सिूच­I                      सिूच­II

1. िबहार                     a. िशमला

2. पि嘀堅म बगंाल            b. हदैराबाद

3. आ樀ं糖开뼄दशे                 c. कोलकाता

4. िहमाचल 开뼄दशे            d. पटना

1­d, 2­c, 3­b, 4­a



1­d, 2­c, 3­a, 4­b

1­c, 2­d, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

Find the odd one out on the basis of its eating habit. अपन ेखान ेकी आदत के आधार पर िन堀� म뀅 िवषम चनु뀅।

Elephant / हाथी

Tiger / बाघ

Rabbit / खरगोश

Horse / घोड़ा

Correct Answer :­Tiger / बाघ 

4)

Question Stimulus :­

Which mirror is used as a rear view mirror in vehicles? / कौन सा दप开뼄ण वाहनो ंम뀅 पीछे दखेन ेके दप开뼄ण के 븀ᤅप म뀅 开뼄योग
िकया जाता ह?ै

Plane / समतल

Concave / अवतल

Inverted / उ�ा

Convex / उ븀�ल

Correct Answer :­Convex / उ븀�ल 

5)

Question Stimulus :­

In which of the following states is Gondwana hills situated? / िन堀� म뀅 स ेिकस रा܉䈀 म뀅 गोडंव्ाना पव开뼄त ᠀⌅�थत ह?ै

Meghalaya/ मघेालय

Orissa/ ओिड़शा



Uttar Pradesh/ उ븀�र 开뼄दशे

Madhya Pradesh/ म笀帄 开뼄दशे

Correct Answer :­Madhya Pradesh/ म笀帄 开뼄दशे 

6)

Question Stimulus :­

___ is a reaction in which system absorbs energy from its surroundings. / ___एक अिभिꨀ琄या ह ैिजसम뀅 开뼄णाली अपने
पᬁ뀅रवशे स ेऊजा开뼄 अवशोिषत करती ह।ै

Addition reaction / योग अिभिꨀ琄या

Endothermic Reaction / ऊ堀倅ाशोषी अिभिꨀ琄या

Elimination Reaction / उ最쨅लून अिभिꨀ琄या

Exothermic reaction / उ堀倅ा堀딄पेी अिभिꨀ琄या

Correct Answer :­Endothermic Reaction / ऊ堀倅ाशोषी अिभिꨀ琄या 

7)

Question Stimulus :­

Rayalaseema is in which of the following states? / रायलसीमा िन堀� म뀅 स ेिकस रा܉䈀 म뀅 ह?ै

Karnataka / कना开뼄टक

Tamil Nadu / तिमलनाडु

Andhra Pradesh / आ븀⬆ 开뼄दशे

Odisha / ओड़ीशा

Correct Answer :­Andhra Pradesh / आ븀⬆ 开뼄दशे 

8)

Question Stimulus :­

Which state of India has borders with three countries namely Nepal, Bhutan and China? / भारत के िकस
रा܉䈀 की सीमा तीन दशेो ंअथा开뼄त ्नपेाल, भटूान और चीन के साथ ह?ै

Arunachal Pradesh / आ樀ं糖开뼄दशे

Meghalaya / मघेालय



West Bengal / पि嘀堅म बगंाल

Sikkim / िस᠀⌅堀縅म

Correct Answer :­Sikkim / िस᠀⌅堀縅म 

9)

Question Stimulus :­

Kaziranga national park is in which State? काजीरंगा रा嘀堅堀딄ीय उ鼀ꘅान िकस रा܉䈀 म뀅 ह?ै

Assam / असम

Sikkim / िस᠀⌅堀縅म

Orissa / ओिड़शा

Uttarakhand / उ븀�राखडं

Correct Answer :­Assam / असम 

10)

Question Stimulus :­

What is the national bird of Bangladesh? / बगंलादशे का रा嘀堅堀딄ीय प堀딄ी 茀혂ा ह?ै

Kingfisher/ िकंगिफ़शर

Cuckoos/ कु堀縅

Dove / डव

Magpie Robin/ मगैपाई रोिबन

Correct Answer :­Magpie Robin/ मगैपाई रोिबन 

11)

Question Stimulus :­

Who was the first Indian to win the Nobel Prize? / पहला नोबले प堀ु倅븀眅ार 开뼄ा븀欉 करन ेवाला भारतीय कौन
था?

Sir C.V. Raman  / सर सी.वी. रमन

Rabindranath Tagore / रवीሀनाथ टगैोर

M.K.Gandhi  / एम.के.गाधँी



Subramanyan Chandrasekhar / स⬀ुꔃम⤀琅न चሀशखेर

Correct Answer :­Rabindranath Tagore / रवीሀनाथ टगैोर 

12)

Question Stimulus :­

Which country is the largest steel producer in the world? / िव᠀㘆 म뀅 सबस ेबड़ा इ最焆ात उ㔀쀆ादक कौन सा दशे ह?ै

United States / सयं쬀ुꀅ रा܉䈀

Australia / ऑ堀倅堀े딄िलया

China / चीन

Russia / 븀ᤅस

Correct Answer :­China / चीन 

13)

Question Stimulus :­

Which of the following is a tropical grassland? / िन堀�िल᠀⌅खत म뀅 स ेकौन उ᠀㘆किटबधंीय घास का मदैान ह?ै

Taiga / टगैा

Savannah / सवाना

Pampas / प开ै뼄स

Prairies / 开뼄रेीज

Correct Answer :­Savannah / सवाना 

14)

Question Stimulus :­

Dipa Karmakar became the ________ female Indian gymnast to participate in the Olympics. / दीपा करमाकर
ओिलिंपक म뀅 भाग लने ेवाली________भारतीय मिहला िज堀�ा堀倅 बनी।

First / 开뼄थम

Second / ि븀眅तीय

Third / ततृीय

None / कोई नहीं



Correct Answer :­First / 开뼄थम 

15)

Question Stimulus :­

Where is Barna Dam located? / बारना बाधं कहा ँ᠀⌅�थत ह?ै

Dindori / िडडंोरी

Ashoknagar / अशोक नगर

Barwani / बड़वानी

Raisen / रायसने

Correct Answer :­Raisen / रायसने 

16)

Question Stimulus :­

AB De Villiers is associated with ? / एबी िडिविलयस开뼄 िकसस ेसबंिंधत ह嘀堅?

Badminton / बडैिमटंन

Tennis / टिेनस

Golf / गो�

Cricket / िꨀ琄केट

Correct Answer :­Cricket / िꨀ琄केट 

17)

Question Stimulus :­

Deepika Kumari is associated with which sports? / दीिपका कुमारी िकस खले स ेसबंिंधत ह?ै

Squash / 븀眅वाश

Boxing / म堀ुे縅बाजी

Archery / तीरंदाजी

Tennis / टिेनस

Correct Answer :­Archery / तीरंदाजी 



18)

Question Stimulus :­

Who has been named as the International Boxing Association (AIBA) ambassador for Women’s World
Championship from India? / भारत स ेमिहला िव᠀㘆 च᠀⌅开뼄यनिशप के िलए अतंरा开뼄嘀堅堀딄ीय म堀ुे縅बाजी सघं )एआईबीए (की
राजदूत के िलए िकस ेनािमत िकया गया ह?ै

Pinki Rani / िपकंी रानी

Mary Kom / मरेी कॉम

Laishram Sarita Devi / लशैराम सᬁ뀅रता दवेी

All of the above / उपरो쬀ꀅ सभी

Correct Answer :­Mary Kom / मरेी कॉम 

19)

Question Stimulus :­

Who is the founder of Bharati Enterprises company? / भारती इटंर开뼄ाइजजे कंपनी के स�ंथापक कौन ह嘀堅?

Sunil Mittal / सनुील िम븀�ल

Vishal Gondal / िवशाल गोडंल

Naween Tewari / नवीन ितवारी

Sanjay Govil / सजंय गोिवल

Correct Answer :­Sunil Mittal / सनुील िम븀�ल 

20)

Question Stimulus :­

Find the odd one out / िवषम वाला Ḁ㔅ात कीिजए

Fastrack / फा堀倅堀ै딄क

Titan / टाइटन

Fossil / फ़ॉिसल

Acer / एसर

Correct Answer :­Acer / एसर 



21)

Question Stimulus :­

Which Indian banknote has the picture of a farmer ploughing the field? / िन堀� म뀅 कौन स ेभारतीय ब嘀堅क नोट पर हल
चलात ेिकसान का िच븀䈆 अिंकत ह?ै

Rs.5/ 5 븀ᤅ

Rs.10 / 10 븀ᤅ

Rs 100 / 100 븀ᤅ

Rs.500 / 500 븀ᤅ

Correct Answer :­Rs.5/ 5 븀ᤅ 

22)

Question Stimulus :­

Who has been reappointed as the Chairman, Managing Director(MD)and Chief Executive Officer(CEO)
of Hero MotoCorp? / हीरो मोटोकाप开뼄 के अ笀帄堀딄 और 开뼄बधं िनदशेक (एम डी) और म娀ु項 काय开뼄कारी अिधकारी (सी
ओ ओ) के 븀ᤅप म뀅 िकसको पनुिन开뼄य쬀ुꀅ िकया गया ह?ै

Hrishikesh Sulabh / 븀ᤅिषकेश सलुभ

Veer Narayan Singh / वीर नारायण िसहं

Amar Talwar / अमर त嘁뀅ार

Pawan Munjal / पवन मुंजल

Correct Answer :­Pawan Munjal / पवन मुंजल 

23)

Question Stimulus :­

Who gave the title of “Mahatma” to Gandhi? / गाधँी को "महा嬀긄ा" की उपािध िकसन ेदी?

Swami Vivekananda / ꨀ帅ामी िववकेानदं

Bal Gangadhar Tilak / बाल गगंाधर ितलक

Bhagat Singh / भगत िसहं

Rabindranath Tagore / रवीሀनाथ टगैोर



Correct Answer :­Rabindranath Tagore / रवीሀनाथ टगैोर 

24)

Question Stimulus :­

Mother Teresa is an awardee of ____/मदर टरैेसा____स ेपरु븀眅त ह?ै

Only Noble Prize / नोबले परु븀眅ार

Only Bharat Ratna / केवल भारत र᠀ᰆ

Both the Noble Prize & Bharat Ratna / नोबले परु븀眅ार ओर भारत र᠀ᰆ दोनो ँसे

None of these / उपय开ु뼄쬀ꀅ मेँ स ेनहीँ

Correct Answer :­Both the Noble Prize & Bharat Ratna / नोबले परु븀眅ार ओर भारत र᠀ᰆ दोनो ँस े

25)

Question Stimulus :­

Who was the winner of The Man Booker International Prize 2013? / मनै बकुर अꀎ偐रा嘀堅堀딄ीय परु븀眅ार 2013 के िवजतेा
कौन थ?े

Ismail Kadare/ इሀाइल कदरे

Chinua Achebe/ िचनआु अचबेे

Lydia Davis / लीिडया डिेवस

Philip Roth / िफिलप रोथ

Correct Answer :­Lydia Davis / लीिडया डिेवस 

26)

Question Stimulus :­

Who was the first Speaker of the Indian Lok Sabha? / भारतीय लोकसभा के 开뼄थम अ笀帄堀딄 कौन थ?े

Ganesh Vasudev Mavalankar / गणशे वासदुवे मावलकंर

PA Sangma / पीए सगंमा

Manohar Joshi / मनोहर जोशी

Meira Kumar / मीरा कुमार



Correct Answer :­Ganesh Vasudev Mavalankar / गणशे वासदुवे मावलकंर 

27)

Question Stimulus :­

Wheeler Island off the coast of Orissa was renamed after which famous scientist? / िकस 开뼄िस堀缄 वḀै㔅ािनक के नाम
पर ओिड़शा के तट पर ⤁뀅ीलर 븀眅ीप का नाम पᬁ뀅रवित开뼄त िकया गया?

Dr. A.P.J. Abdul Kalam / डॉ ए.पी.ज ेअꨀ項लु कलाम

Vikram Sarabhai / िवꨀ琄म साराभाई

Homi Bhaba / होमी भाभा

Tessy Thomas / टसेी थॉमस

Correct Answer :­Dr. A.P.J. Abdul Kalam / डॉ ए.पी.ज ेअꨀ項लु कलाम 

28)

Question Stimulus :­

How many continents are there in the world? / ससंार म뀅 िकतन ेमहा븀眅ीप ह嘀堅?

6

8

10

7

Correct Answer :­7 

29)

Question Stimulus :­

Which is the hoĥest planet in solar system? / सौर मडंल का सबस ेगम开뼄 ꨀ댅ह कौन सा ह?ै

Mercury / बधु

Venus / शꨀु琄

Earth / पꨀृ씅ी

Jupiter / वहृ最焆ित



Correct Answer :­Venus / शꨀु琄 

30)

Question Stimulus :­

What is the voting age in India? / भारत म뀅 मतदान की उ⬀뤃 茀혂ा ह?ै

21 years / वष开뼄

22 years / वष开뼄

18 years / वष开뼄

1 years / वष开뼄

Correct Answer :­18 years / वष开뼄 

31)

Question Stimulus :­

The Election Commission of India is situated at______. / भारत का िनवा开뼄चन आयोग ________ म뀅 ᠀⌅�थत ह।ै

Mumbai / मुंबई

New Delhi / नई िद냿뀅ी

Chennai / च븀锇ई

Kolkata / कोलकाता

Correct Answer :­New Delhi / नई िद냿뀅ी 

32)

Question Stimulus :­

The first Indian state to take public private partnership projects for redevelopment of slums in urban area under
the recently launched PMAY is / पहल ेभारतीय रा܉䈀 िजसन ेहाल ही मेँ साव开뼄जिनक 崁뀅᠀⌅쬀ꀅगत साझदेारी, दᬁ뀅र븀䈆
पनु开뼄िवकास योजना और शहरी 堀딄븀े䈆ो ंके अतं开뼄गत PMAY जारी की ह­ै

Goa/ गोवा

Karnataka/ कना开뼄टक

Rajasthan/ राज�थान

Gujarat/ गजुरात



Correct Answer :­Gujarat/ गजुरात 

33)

Question Stimulus :­

Who is the Chairman of SEBI? / सबेी (भारतीय 开뼄ितभिूत और िविनमय बोड开뼄) के अ笀帄堀딄 कौन ह嘀堅?

Nishant Rathi/ िनशातं राठी

Upendra Kumar Sinha/ उप뀅븀䈆 कुमार िसहंा

Arun P. Sathe/ अ堀倅ण पी साठे

Rajeev Kumar Agarwal/ राजीव कुमार अꨀ댅वाल

Correct Answer :­Upendra Kumar Sinha/ उप뀅븀䈆 कुमार िसहंा 

34)

Question Stimulus :­

When was Quit India movement started?/ भारत छोड़ो आ븀眅ोलन कब आरꨀ⠈ ꨀ⸄आ था?

8th August 1942 / 8 अग븀眅 1942

8th August 1943 / 8 अग븀眅 1943

4th August 1942 / 4 अग븀眅 1942

3rd August 1942 / 3 अग븀眅 1942

Correct Answer :­8th August 1942 / 8 अग븀眅 1942 

35)

Question Stimulus :­

Who started the “Bhoodan Movement”?/ “भदूान आ븀眅ोलन“ िकसन ेश븀ुᤅ िकया था?

Chakravarti Rajagopalachari/ चꨀ琄वत堀딄 राजगोपालाचारी

Murlidhar Devidas Amte/ मरुलीधर दिेवदास आमटे

Acharya Vinoba Bhave/ आचाय开뼄 िवनोबा भावे

Sarvepalli Radhakrishnan/ सव开뼄प냿뀅ी राधाकृ᠀㘆न

Correct Answer :­Acharya Vinoba Bhave/ आचाय开뼄 िवनोबा भाव े



36)

Question Stimulus :­

In which country was Gautama Buddha born? / िकस दशे म뀅 गौतम ब堀ु缄 का ज最쨅 ꨀ⸄आ?

India / भारत

Sri Lanka / ꤀缆ीलकंा

Nepal / नपेाल

Bangladesh / बगंला दशे

Correct Answer :­Nepal / नपेाल 

37)

Question Stimulus :­

Which among the following train travel the longest distance in India? / िन堀� म뀅 स ेकौन सी भारतीय रेल सबस े܉䈀ादा
अतंर तय करती ह?ै

Kanyakumari Vivek Express/ क⤀琅ाकुमारी िववके ए堀倅开뼄से

Bhubaneswar­Junagarh Express/ भबुन᠀े㘆र – जनूागढ़ ए堀倅开뼄से

Black Diamond Express/ ꨀԈकै डाईमडं ए堀倅开뼄से

Rajdhani Express/ राजधानी ए堀倅开뼄से

Correct Answer :­Kanyakumari Vivek Express/ क⤀琅ाकुमारी िववके ए堀倅开뼄से 

38)

Question Stimulus :­

Who is the newly appointed Prime Minister of Nepal? / नपेाल के नव िनय쬀ुꀅ 开뼄धानम븀ं䈆ी कौन ह嘀堅?

Shakti Basnet / श᠀⌅쬀ꀅ बꀀ밂ते

Khadga Prasad Oli / खड़गा 开뼄साद ओली

Pushpa Kamal Dahal / प᠀ु㘆ा कमल दहल

Kamal Thapa / कमल थापा

Correct Answer :­Pushpa Kamal Dahal / प᠀ु㘆ा कमल दहल 

39)



Question Stimulus :­

Whose signature appears on Indian currency notes other than the 1Re note? / 1 堀倅पए के नोट के अलावा भारत की
बाक़ी करे崀鸇ी नोटो ंपर िकसका ह븀眅ा堀딄र अिंकत होता ह?ै

Finance Minister / िव븀� म븀ं䈆ी

President of India / भारत के रा嘀堅堀딄पित

Finance Head of Central Government / क뀅븀䈆 सरकार के िव븀� अ笀帄堀딄

Governor of RBI / भारतीय ᬁ뀅रज़व开뼄 ब嘀堅क के गवन开뼄र

Correct Answer :­Governor of RBI / भारतीय ᬁ뀅रज़व开뼄 ब嘀堅क के गवन开뼄र 

40)

Question Stimulus :­

Which Sufi invented the tabla and is considered father of Hindustani music? / िकस सफ़ूी न ेिहदं�ुथानी सगंीत के
िलए तबल ेका आिव嘀堅ार िकया?

Amir Khusro/ अमीर खसुरो

Zaakir Hussein / ज़ािकर ꨀ⸄सनै

A R Rehman / ए.आर रहमान

Hazarath Ali / हज़रत अली

Correct Answer :­Amir Khusro/ अमीर खसुरो 

41)

Question Stimulus :­

Yakshagana is a famous dance form of this State. / य堀딄गान इस शहर की एक 开뼄िस堀缄 नꄀृ밂 शलैी ह:ै

Kerala / केरल

Tamil nadu / तिमलनाडु

Andhra Pradesh / आ樀ं糖开뼄दशे

Karnataka / कना开뼄टक

Correct Answer :­Karnataka / कना开뼄टक 

42)



Question Stimulus :­

Who was recently sworn in as the Prime Minister of Australia? / हाल म뀅 ही ऑ� ट堀딄िलया के 开뼄धानम븀ं䈆ी के 븀ᤅप म뀅
िकसन ेशपथ ली ह?ै

Kevin Rudd / केिवन 븀ᤅड

Julia Gillard / जिूलया िगलाड开뼄

Malcom Turnbull / म퀜ै聀म टन开뼄बलु

Joseph Blair / जोसफे � लयेर

Correct Answer :­Malcom Turnbull / म퀜ै聀म टन开뼄बलु 

43)

Question Stimulus :­

Which is the first state in India that will have a ‘Foreign Ministry’? / भारत म뀅 वो कौन सा पहला रा� य ह ैजहां
‘िवदशे म븀ं䈆ालय’ होगा?

Andhra Pradesh / आ樀ं糖 开뼄दशे

Gujarat / गजुरात

Tamil Nadu / तिमलनाडु

Teleangana / तलेगंाना

Correct Answer :­Teleangana / तलेगंाना 

44)

Question Stimulus :­

What is the full form of NATO? / नाटो NATO का िव븀眅ार 茀혂ा ह?ै

National Atlantic Treaty Organization / नशेनल एटलािंटक ट堀딄ीटी ऑग뜀नाइजशेन

North Atlantic Treaty Organization / नॉथ开뼄 एटलािंटक ट堀딄ीटी ऑग뜀नाइजशेन

North Antarctica Treaty Organization / नॉथ开뼄 एंटािट开뼄का ट堀딄ीटी ऑग뜀नाइजशेन

North Africa Treaty Organization / नॉथ开뼄 ऑि崀鸇का ट堀딄ीटी ऑग뜀नाइजशेन

Correct Answer :­North Atlantic Treaty Organization / नॉथ开뼄 एटलािंटक ट堀딄ीटी ऑग뜀नाइजशेन 

45)



Question Stimulus :­

When is ‘World Youth Skills Day’ celebrated? / ‘िव� व यवुा कौशल िदवस (World Youth Skills Day)’ कब मनाया
जाता ह?ै

15th July / 15 जलुाई

20th May / 20 मई

24th October / 24 अ� टूबर

22nd November / 22 नवबंर

Correct Answer :­15th July / 15 जलुाई 

46)

Question Stimulus :­

Where is the Security Paper Mills located in Madhya Pradesh? / म笀帄 开뼄दशे म뀅 开뼄ितभिूत कागज कारख़ाना कहा ँ᠀⌅�थत
ह?ै

Hoshangabad / होशगंाबाद

Dewas / दवेास

Gwalior / 븀옆ािलयर

Dhar / धार

Correct Answer :­Hoshangabad / होशगंाबाद 

47)

Question Stimulus :­

Which plateau covers almost the enĕre part of Western Madhya Pradesh? / कौन सा पठार पि嘀堅मी म笀帄 开뼄दशे के लगभग
परूे िह븀댆 ेको ढकता ह?ै

Malwa / मालवा

Berar / बरार

Shivpuri / िशवपरुी

Morena / मरुैना

Correct Answer :­Malwa / मालवा 

48)



Question Stimulus :­

The only Eco tourism site in Bhopal is / भोपाल म뀅 एकमा븀䈆 पाᬁ뀅रपय开뼄टन � थल है

Kolar dam / कोलार बाधं

Rajghat dam / राजघाट बाधं

Kerwa dam / केरवा बाधं

Halahi dam / हलाही बाधं

Correct Answer :­Kerwa dam / केरवा बाधं 

49)

Question Stimulus :­

Dudhsagar, Hundru and Chitrakoot are names of ___________ / दूधसागर, ꨀ⸄븀⬆堀倅 एव ंिच븀䈆कूट ________ के नाम
ह嘀堅।

Waterfalls / जल开뼄पात

Mountains / पव开뼄त

Deserts / म堀倅�थल

Glaciers / 㐀밂िेशयर

Correct Answer :­Waterfalls / जल开뼄पात 

50)

Question Stimulus :­

One of the finest Teak forest of the state of Madhya Pradesh is found in/ म笀帄 开뼄दशे के रा܉䈀 के बहेतरीन सागौन का
जगंल _म뀅 पाया जाता ह।ै

Satpura Sanctuary/ सतपड़ुा अभयार娀褅

Ratapani Tiger reserve/ रातापानी बाघ अभयार娀褅

Sanjay Sanctuary/ सजंय अभयार娀褅

Kanha Sanctuary/ का븀찆ा अभयार娀褅

Correct Answer :­Ratapani Tiger reserve/ रातापानी बाघ अभयार娀褅 

51)



Question Stimulus :­

720 families live in an apartment. Out of that 120 familes are from North India , 360 are
from South and 240 from West Bengal and the information has to be represented in a Pie
Chart,  find the angle to be marked at the centre  to represent  North Indian Families? /
720 पᬁ뀅रवार एक अपाट开뼄म뀅ट म뀅 रहत ेह嘀堅, िजनम뀅 स े120 पᬁ뀅रवार उ븀�र भारत स ेह嘀堅, 360 दि堀딄ण स ेह嘀堅 और 240 पि嘀堅म बगंाल
स ेह嘀堅 और सचूना को पाई चाट开뼄 पर दशा开뼄ना ह,ै उ븀�र भारत के पᬁ뀅रवारो ंको दशा开뼄न ेके िलय ेक뀅븀䈆 पर माक开뼄 िकया जान ेवाला कोण
िनकािलय।े

1200

600

33.330

2400

Correct Answer :­600 

52)

Question Stimulus :­

A polyhedron has 7 faces and 10 vertices. How many vertices does it have? / एक बꨀ⸄फलक के 7 फलक ह嘀堅 और 10
कोणिबदं ुह嘀堅। उसके कोणिबदं ुिकतन ेह嘀堅?

17

15

12

19

Correct Answer :­15 

53)

Question Stimulus :­

If the adjacent angles of a rhombus are equal, the measure of each angle will be: / यिद समचतभु开ु뼄ज के पाशव开뼄�थ
कोण बराबर ह嘀堅, तो 开뼄ꄀ밂के कोण का माप होगा:

600

900

450

800



Correct Answer :­900 

54)

Question Stimulus :­

Reliance Ltd opened at 365 points.  It fell by 56 points as the day progressed and gained
92 points when the day closed.  The value of its share at close was ________________ . /
ᬁ뀅रलायसं िलिमटडे 365 ꨀ欅ाईटं पर खलुी। जसै ेजसै ेिदन आग ेबढ़ा, वह 56 ꨀ欅ाईटं िगरी और िदन के समा븀欉 होन ेतक 92
ꨀ欅ाईटं 开뼄ा븀欉 िकय।े समा븀欉ी पर उसके शयेर का मान था_______________

+ 329

–329

–401

+ 401

Correct Answer :­+ 401 

55)

Question Stimulus :­

If the sum of three consecutive odd numbers is 63, which is the first of the three consecutive odd numbers? /
तीन ꨀ琄मागत िवषम स娀ं項ाओ ंका योग 63 ह,ै तीन ꨀ琄मागत िवषम स娀ं項ाओ ंम뀅 स े开뼄थम कौन सी ह?ै

21

23

19

25

Correct Answer :­19 

56)

Question Stimulus :­

Ansy scored 87,86,92 and 95marks in four subjects. What should be her least score in the
fifth subject if she has to get a mean score of 90 in all?  / एंसी न ेचार िवषयो ंम뀅 87,86,92 और 95
अकं 븀眅ोर िकय।े पाचँव ेिवषय म뀅 उसका ⤀琅नूतम 븀眅ोर 茀혂ा होना चािहए यिद उस ेकुल 90 का मा笀帄 븀眅ोर लाना ह?ै

95

89



93

90

Correct Answer :­90 

57)

Question Stimulus :­

The difference between the highest and lowest values in a given data is called
its ___________ / िदय ेगय े डाटा म뀅 उ开뼄तम और ⤀琅नूतम मान के बीच का अतंर 
उसका_______________कहलाता ह|ै

Data  / डाटा

Range / पᬁ뀅रसर

Frequency / बारंबारता

Array / सारणी

Correct Answer :­Range / पᬁ뀅रसर 

58)

Question Stimulus :­

How many tiles will be required for the flooring of a hall of 35ft x 20ft, if the tiles are of size2.5ft x2ft? / 35 फुट
x 20 फुट के हॉल के फश开뼄 पर िबछान ेके िलय ेिकतनी टाइलो ंकी आव櫿堅쬀ꀅा होगी, यिद टाइल का साइज़ 2.5 फुट x 2
फुट ह ै?

140

1400

14000

14

Correct Answer :­140 

59)

Question Stimulus :­

Each side of a rhombus is25cm. If the distance between the two parallel sides is 12cm find its area? / एक
समचतभु开ु뼄ज की 开뼄ꄀ밂के भजुा 25 समेी ह।ै यिद दो समातंर भजुाओ ंके बीच की दूरी 12समेी ह ैतो उसका 堀딄븀े䈆फल Ḁ㔅ात
कीिजए?



150cm2

1500cm2

 600cm2

 300cm2

Correct Answer :­ 300cm2 

60)

Question Stimulus :­

Gathiman express covers a distance of 200 km from Delhi to Agra in 90 minutes.at an
average speed of 133km/hour. Railways plans to reduce the journey time to 75 min   What
should be the increased speed in km / hr? (round figure) / गितमान ए堀倅से िद냿뀅ी स ेआगरा की
200िकमी दूरी 90 िमनंट म뀅 133 िकमी 开뼄ित घ쌇 ेकी औसत चाल स ेपरूा करती ह.ै रेलव,े या븀䈆ा का समय कम करके 75
िमनट करन ेकी योजना बनात ेह嘀堅। बढ़ा ꨀ⸄आ वगे िकमी 开뼄ित घ쌇ा म뀅 िकतना होना चािहय?े

180

140

160

150

Correct Answer :­160 

61)

Question Stimulus :­

The period of rotation of geo stationary satellites around the earth is / पꨀृ씅ी के चारो ंओर भ ू᠀⌅�थर
उपꨀ댅हो ंके घणू开뼄न की अविध है

24 hours / 24 घटंे

100 minutes / 100 िमनट

48 hours / 48 घटंे

48 minutes / 48 िमनट

Correct Answer :­24 hours / 24 घटं े

62)

Question Stimulus :­



Aluminium when exposed to the atmosphere gets oxidized to Al2O3.It is a / वातावरण म뀅 एᨁ뀅िुमिनयम के सपंक开뼄 होते
ही Al2O3 का ऑ堀倅ीकरण हो जाता ह।ै य ेहै

Basic oxide / बिेसक ऑ堀倅ाइड

Acidic oxide / अꨀ숅ीय ऑ堀倅ाइड

Neutral oxide / ⤀琅टू堀딄ल ऑ堀倅ाइड

Amphoteric oxide. / उभयधम堀딄 ऑ堀倅ाइड

Correct Answer :­Amphoteric oxide. / उभयधम堀딄 ऑ堀倅ाइड 

63)

Question Stimulus :­

When the distance between two bodies is tripled, the gravitaĕonal force between them is / जब दो व븀眅ओु ंकी बीच
की दूरी ितगनुी कर दी जाती ह,ै तो उनके बीच ग堀ु倅嬀攄ीय बल

tripled / ितगनुा हो जाता है

reduced by a factor of 3 / 3 के कारक स ेघट जाता है

mulĕplied by a factor of 9 / 9 के कारक स ेगणुा हो जाता है

reduced by a factor of 9 / 9 के कारक स ेघट जाता है

Correct Answer :­reduced by a factor of 9 / 9 के कारक स ेघट जाता ह ै

64)

Question Stimulus :­

Which of the following clothes will be more comfortable for us to use in winter? / िन堀� म뀅 स ेकौन स ेकपड़ ेसिद开뼄यो ंम뀅
开뼄योग करन ेहते ु܉䈀ादा आरामदायक होगं?े

White or light coloured clothes / सफेद या ह퀜聀 रंग के कपड़े

Thick blanket / मोटा कंबल

Two thin blankets joined together / एकसाथ जोड़ ेगय ेदो पतल ेकंबल

Wet clothes / गील ेकपड़े

Correct Answer :­Two thin blankets joined together / एकसाथ जोड़ ेगय ेदो पतल ेकंबल 

65)

Question Stimulus :­



The strongest  interparticle forces at room temperature is in / कमरे के तापमान पर सबस ेमजबतू
कणातरं बल ___________ म뀅 है

Oxygen / ऑ堀倅ीजन

Water / जल

Iron / लोहा

Sulphur / स�र

Correct Answer :­Iron / लोहा 

66)

Question Stimulus :­

Atul cut one sheet of paper into 5 pieces and later burnt them to get some ash. The changes happening are / अतलु ने
एक कागज की शीट को 5 टकुड़ो ंम뀅 काटा तथा बाद म뀅 उ� ह뀅 जला कर राख बनाया। इस 开뼄िꨀ琄या म뀅 ꨀ⸄ए पᬁ뀅रवत开뼄न

Both chemical changes. / दोनो ंरासायिनक पᬁ뀅रवत开뼄न ह嘀堅

Both Physical changes / दोनो ंभौितक पᬁ뀅रवत开뼄न ह嘀堅

Former a physical change and laĥer a chemical change / पहला भौितक पᬁ뀅रवत开뼄न तथा दूसरा रासायिनक पᬁ뀅रवत开뼄न
है

Former a chemical change and laĥer a physical change. / पहला रासायिनक पᬁ뀅रवत开뼄न तथा दूसरा भौितक
पᬁ뀅रवत开뼄न है

Correct Answer :­Former a physical change and laĥer a chemical change / पहला भौितक पᬁ뀅रवत开뼄न तथा दूसरा
रासायिनक पᬁ뀅रवत开뼄न ह ै

67)

Question Stimulus :­

In which of the following organisms, the m­RNA does not move from the nucleus to cytoplasm? / िन堀� म뀅 स ेिकन
जीवो ंम뀅, एम आरएनए नािभक स ेसाइटो嘀堅ाሀ म뀅 नही ंजाता?

Chlamydomona / 茀혂िैमडोमोनास

E.col /इ.कोली

Amoeba / अमीबा

Mucour / Ḁ㔅कूॉर

Correct Answer :­E.col /इ.कोली 



68)

Question Stimulus :­

The organelle which contain enzymes for intracellular digestion is /कोिशकागं िजसम뀅 अतं:कोिशकी पाचन के िलए
ए�ज़ाइम होता है

Ribosome / राइबोसोम

Mesosome / मीज़ोसोम

Lysosome  /लाइसोसोम

Vacuole / रसधानी

Correct Answer :­Lysosome  /लाइसोसोम 

69)

Question Stimulus :­

Enzymes are mainly made of _____________ / ए�ज़ाइम म娀ु項 븀ᤅप स े_____________ स ेबन ेहोत ेह嘀堅

Proteins / 开뼄ोटीन

Carbohydrates / काब븀ꐆहाइड堀딄ट

Nucleic acid / ⤀琅᠀ू⌅茀혂क अꨀ숅

Steroids / 堀倅रेॉयड

Correct Answer :­Proteins / 开뼄ोटीन 

70)

Question Stimulus :­

The application of Science to solve problems related to law / िवḀ㔅ान का अन开ु뼄योग जो काननू सबंिंधत सम븀⬆ाओ ंको
हल करता है

Forensic science / ⤀琅ायालियक िवḀ㔅ान

Legal science / काननूी िवḀ㔅ान

Pharmaceutical science / औषध िवḀ㔅ान

DNA fingerprinting / डीएनए अगंलुीिनशान

Correct Answer :­Forensic science / ⤀琅ायालियक िवḀ㔅ान 



71)

Question Stimulus :­

The average weight of 3 men A, B and C is 84 kg. Another man ‘D’ joins the group and this increases the average
weight by 4kg. What is the weight of ‘D’?/ 3 प堀ु倅षो ंA, B और C का औसत वजन 84 िकꨀ댅ा ह।ै समहू म뀅 एक प堀ु倅ष ‘D’
शािमल होता ह ैऔर इसके कारण औसत वजन म뀅 4िकꨀ댅ा की व᠀ृ⌅堀缄 हो जाती ह।ै ‘D’ का वजन िकतना ह?ै

100

90

95

105

Correct Answer :­100 

72)

Question Stimulus :­

If x­3; x­7; x+8; x­4 are in proportion, what is the value of x? / यिद x­3; x­7; x+8; x­4
अनपुात म뀅 ह嘀堅, x का मान 茀혂ा होगा?

9.0

18.5

8.5

None / कोई भी नहीं

Correct Answer :­8.5 

73)

Question Stimulus :­

The ratio between the present ages of A and B is 5 : 3 respectively. The ratio between A’s
age 4 years ago and B’s age 4 years hence is 1 : 1. What is the ratio between A’s age 4
years hence and B’s age 4 years ago? / वत开뼄मान म뀅 A और B की आय ुका अनपुात ꨀ琄मश: 5 : 3 ह।ै 4 साल
पहल ेA की आय ुऔर 4 साल बाद B की आय ुके बीच का अनपुात 1 : 1 होगा?  4 साल बाद A की आय ुऔर 4 साल पहले
B की आय ुका अनपुात 茀혂ा होगा?

1 : 3

2 : 1

3 : 1



4 : 1

Correct Answer :­3 : 1 

74)

Question Stimulus :­

A person’s present age is   of the age of his mother. After 8 years, he will be  of the age of

his mother. How old is the mother at present?/ वत开뼄मान म뀅 एक 崁뀅᠀⌅쬀ꀅ की आय ुअपनी मा ँकी आय ुका 

 भाग ह।ै 8 वषᰀꐆ बाद,  उसकी आय ुअपनी मा ँकी आय ुकी  होगी। वत开뼄मान म뀅 उसकी मा ँकी आय ुिकतनी ह?ै

32 years/ 32 वष开뼄

36 years/ 36 वष开뼄

40 years/ 40 वष开뼄

48 years/ 48 वष开뼄

Correct Answer :­40 years/ 40 वष开뼄 

75)

Question Stimulus :­

3/2 of 26 is / 26 का 3/2 ह:ै

32

39

40

28

Correct Answer :­39 

76)

Question Stimulus :­

Remainder when you divide 135 by 3 is / जब आप 135 को 3 स ेिवभािजत करत ेह嘀堅 तो शषे:

0

4



2

5

Correct Answer :­0 

77)

Question Stimulus :­

In a test, Gopal scored 98 marks out of 300 marks but fails by 22 marks. What would be the minimum percentage
of marks required to pass the test? / एक जाचँ म뀅, गोपाल कुल 300 अकंो ंम뀅 98 अकं 开뼄ा븀欉 करता ह,ै लिेकन 22 अकंो ंसे
िवफल हो जाता ह।ै जाचँ म뀅 पास होन ेके िलए िकतन े⤀琅नूतम अकंो ंकी आव櫿堅कता होगी?

40%

35%

30%

36%

Correct Answer :­40% 

78)

Question Stimulus :­

Fill in the missing alphabets  / ल븀ु欉 अ堀딄र भᬁ뀅रए

ab__aabb__ab__a

b, b, b

a, a, a

a, b, a

b, a, b

Correct Answer :­b, a, b 

79)

Question Stimulus :­

64% of 100 is / 100 का 64% ह:ै

64



60

80

82

Correct Answer :­64 

80)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the One given
below? / िन堀� चार पतो ंम뀅 स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877­0711

  

(i)   Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877­0711

     

(ii)  Din & Din Ford

1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877­0711

  

(iii) Din & Din Ford

1000 W Wade Hampt0n Blvd
Green, SC 29650

(864) 877­0711

 

(iv) Din & Din Ford



1000 W Wade Hampton Blvd
Greer, SC 29650

(864) 877­0711

i

ii

iii

iv

Correct Answer :­iii 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the other three? / िन堀�
चार पतो ंम뀅 स ेकौन सा एक बाकी तीन के एकदम समान नही ंह?ै

 

Sr. George Rodriguez

Calle, 21, Esqauina K, Vedado

La Havana, CUBA

 

i. Sr. George Rodriguez

Calle, 21, Esquina K. Vedado

La Havana, CUBA

 

ii. Sr. George Rodriguez

Calle, 21, Esqauina K, Vedado

La Havana, CUBA

 

iii. Sr. George Rodriguez

Calle, 21, Esquina K. Vedado

La Havana, CUBA

 



iv.Sr. George Rodriguez

Calle, 21, Esquina K. Vedado

La Havana, CUBA

i

ii

iii

iv

Correct Answer :­ii 

82)

Question Stimulus :­

Two trains staring from the same place run at the rate of 50 kmph and 55 kmph respectively. What time will they
take to be 85 km apart, if they run in the same direction? / एक ही �थान स ेश븀ुᤅ होन ेवाली दो रेलगािड़या ंꨀ琄मानसुार
50 िकमी 开뼄ित घटंा एव ं55 िकमी 开뼄ित घटंा की गित स ेदौड़ती ह嘀堅। यिद व ेएक ही िदशा म뀅 जा रही हो ंतो दोनो ंके बीच म뀅 85
िकमी की दूरी रखन ेके िलए िकतना समय लगगेा?

16 hrs / 16 घटंे

18 hrs / 18 घटंे

17 hrs / 17 घटंे

15 hrs / 15 घटंे

Correct Answer :­17 hrs / 17 घटं े

83)

Question Stimulus :­

Kamal bought a refrigerator for Rs.6000 from Bombay and brought it to Bangalore spend transportation charge
Rs.750 and over head expenses Rs.300 then he sold for Rs.6800. What is his loss? / कमल न ेब밂ई स े6000 븀ᤅपये
का एक ि⤀琅ज खरीदा और 븀ᤅपय े750 की पᬁ뀅रवहन लागत एव ं300 븀ᤅपय ेका ऊपरी 崁뀅य करन ेके प嘀堅ात उस ेब嘀堅गलोर ले
आया। िफर उसन ेि⤀琅ज को 6800 븀ᤅपय ेम뀅 बचे िदया। उस ेिकतना नकुसान ꨀ⸄आ?

400

300

250

350



Correct Answer :­250 

84)

Question Stimulus :­

Find the next term in the series  6,3,12,6,24,_________ /꤀缆खंला म뀅 अगला पद Ḁ㔅ात कीिजए
6,3,12,6,24,_________

12

18

30

48

Correct Answer :­12 

85)

Question Stimulus :­

Find the next term in the series. / ꤀缆खंला म뀅 अगला पद Ḁ㔅ात कीिजए

11, 15, 9, 17, 7, 19, ?

3

5

7

9

Correct Answer :­5 

86)

Question Stimulus :­

If “PLAYERS WEAR SHOES” stands for “BIN TIN RIN”, “LADIES WEAR BANGLES” stands for “SIN CIN TIN”, “BANGLES OF
GOLD” stands for “NUN SIN TON” then which word stands for LADIES? / यिद “PLAYERS WEAR SHOES” 开뼄तीक嬀攄 करता
ह ै“BIN TIN RIN” को, “LADIES WEAR BANGLES” 开뼄तीक嬀攄 करता ह ै“SIN CIN TIN”, “BANGLES OF GOLD” 开뼄तीक嬀攄 करता है
“NUN SIN TON” तो कौन सा शꨀ項 LADIES को 开뼄तीक嬀攄 करता ह?ै

NUN

CIN

SIN



TIN

Correct Answer :­CIN 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेꨀ琄म म뀅 अगली आकृित कौन सी होगी?

 



Correct Answer :­  

88)

Question Stimulus :­

If 1st March 2007 is Tuesday, what will be the day on 1st November of the same year? / यिद 1 माच开뼄 2007 मगंलवार
ह,ै तो उसी वष开뼄 के 1 नव밂र को कौन सा िदन होगा?

Tuesday / मगंलवार

Wednesday / बधुवार

Friday / शꨀ琄वार

Sunday / रिववार

Correct Answer :­Tuesday / मगंलवार 

89)

Question Stimulus :­

A + B means that A is the father of B / A + B का मतलब ह ैिक A, B के िपता ह嘀堅         

A ­ B means that A is the mother of B / A ­ B का मतलब ह ैिक A, B की माता ह ै

A x B means that A is the brother of B / A x B का मतलब ह ैिक A, B का भाई ह ै   

A / B means that A is the sister of B / A / B का मतलब ह ैिक A, B की बहन ह ै

A ! B means that A is the son of B   / A ! B  का मतलब ह ैिक A, B का बटेा है

A $ B means that A is the daughter of B / A $ B का मतलब ह ैिक A, B की बटेी है

 

In which of the following options will be C is the cousin of E? / िन堀� म6े स ेकौन स ेिवकꄀो ंम뀅 C, E
का चचरेा भाई होगा?

C $ B $ E

C $ B x D ­ E

C ! B ! E

C x E



Correct Answer :­C $ B x D ­ E 

90)

Question Stimulus :­

B is the wife of A. C is the niece of B. D is B’s brother. How is D related to A? / B, A की प᠀ᰆी
ह।ै C, B की भतीजी ह।ै D, B का भाई ह।ै D, A स ेकैस ेसबंिंधत ह?ै

Sister / बहन

Brother­in­law / साला

Daughter / बटेी

Daughter­in­law / बꨀ⸄

Correct Answer :­Brother­in­law / साला 

91)

Question Stimulus :­

Which of the following is the mirror image of COLLATE? / िन堀� म뀅 स ेकौन सा COLLATE का दप开뼄ण 开뼄ितिब밂 ह?ै

Correct Answer :­  

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िन堀� 开뼄嘀堅 म뀅, पहल ेशꨀ項 का दूसरे शꨀ項 के साथ  िकसी 开뼄कार स ेकोई सबंधं ह।ै यिद तीसरे शꨀ項 का चौथ ेशꨀ項 के
साथ उसी 开뼄कार का सबंधं होना चािहए, तो चौथा शꨀ項 होगा:

Jupiter : Sun :: Moon : ? / बहृ最焆ित : सयू开뼄 :: चादं : ?

Planet / ꨀ댅ह



Star / तारा

Earth / पꨀृ씅ी

Sun / सयू开뼄

Correct Answer :­Earth / पꨀृ씅ी 

93)

Question Stimulus :­

In how many ways can 5 members be selected out of 10 members, so that two particular members must be
included? / 10 सद븀⬆ो ंम뀅 स े5 सद븀⬆ो ंका चयन िकतन े开뼄कार म뀅 हो सकता ह ैिजसस ेिक दो िविश嘀堅 सद븀⬆ अिनवाय开뼄 븀ᤅप से
शािमल िकय ेजा सक뀅?

52

44

56

28

Correct Answer :­56 

94)

Question Stimulus :­

Megha travels 6km towards west, then 5km towards north, and finally travels 6km towards west. How far is she
from his original place and in what direction? / मघेा पि嘀堅म की ओर 6िकमी या븀䈆ा करती ह,ै िफर उ븀�र की ओर
5िकमी, और अतं म뀅 पि嘀堅म की ओर 6िकमी। वह अपन ेआरंभ बदं ुस ेिकतनी दूर ह ैऔर िकस िदशा म뀅 ह?ै

13 km to the north­west / उ븀�र­पि嘀堅म की ओर 13िकमी

8 km to the north­west / उ븀�र­पि嘀堅म की ओर 8िकमी

11 km to the west / पि嘀堅म की ओर 11िकमी

17 km to the west / पि嘀堅म की ओर 17िकमी

Correct Answer :­13 km to the north­west / उ븀�र­पि嘀堅म की ओर 13िकमी 

95)

Question Stimulus :­

What is the day on 15th August 2050? / 15 अग븀眅, 2050 को कौन सा िदन होगा?



Monday / सोमवार

Tuesday / मगंलवार

Wednesday / बधुवार

Thursday / ग븀ुᤅवार

Correct Answer :­Monday / सोमवार 

96)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकꄀ
चिुनय ेजो तक开뼄 की �ि嘀堅 स ेनीच ेिदय ेगय ेकथन के समान ह:ै

If stock prices rise, then bond values fall. Stock prices are rising. / यिद शयेर के भाव बढ़त ेह嘀堅, तो
बॉ븀⬆ के मᨁू뀅 घटत ेह嘀堅। शयेर के भाव बढ़ रह ेह嘀堅।

One should buy stocks. / हर एक को शयेर खरीदन ेचािहए।

If bond values fall, then stock prices rise. / यिद बॉ븀⬆ के मᨁू뀅 घटत ेह嘀堅, तो शयेर के भाव बढ़त ेह嘀堅।

Bond values are rising. / शयेर के भाव बढ़ रह ेह嘀堅।

Bond values are falling. / शयेर के भाव घट रह ेह嘀堅।

Correct Answer :­Bond values are falling. / शयेर के भाव घट रह ेह嘀堅। 

97)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकꄀ
चिुनय ेजो तक开뼄 की �ि嘀堅 स ेनीच ेिदय ेगय ेकथन के समान ह:ै

If it is cool, then it is winter. / यिद ठंडक ह,ै तो सद堀딄 ह।ै

If is not cool, then it is not winter. / यिद ठंडक नही ंह,ै तो सद堀딄 नही ंह।ै

If it is not cool, then it is winter. / यिद ठंडक नही ंह,ै तो सद堀딄 ह।ै

If it is not winter, then it is not cool. / यिद सद堀딄 नही ंह,ै तो ठंडक नही ंह।ै

If it is winter, then it is cool. / यिद सद堀딄 ह,ै तो ठंडक ह।ै

Correct Answer :­If it is not winter, then it is not cool. / यिद सद堀딄 नही ंह,ै तो ठंडक नही ंह।ै 

98)



Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन嘀堅षᰀꐆ के बारे म뀅 सही ह嘀堅:

Statements: / कथन:

Some dogs are bold.  / कुछ कु븀� े िनभ堀딄क ह嘀堅।

All cats are bold. / सभी िब᠀⌅냿뀅या ँिनभ堀딄क ह嘀堅।

 

Conclusions:   / िन嘀堅ष开뼄:              

I. Some dogs are cats. / I. कुछ कु븀� ेिब᠀⌅냿뀅या ँह嘀堅।

II. Some cats are dogs. / II. कुछ िब᠀⌅냿뀅या ँकु븀� ेह嘀堅।

Only conclusion I follows / केवल िन嘀堅ष开뼄 I िनकलता है

Only conclusion II follows / केवल िन嘀堅ष开뼄 II िनकलता है

Either I or II follows. / या तो िन嘀堅ष开뼄 I या िफर II िनकलता है

Neither I nor II follows. / न तो I और न ही II िनकलता है

Correct Answer :­Neither I nor II follows. / न तो I और न ही II िनकलता ह ै

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन嘀堅षᰀꐆ के बारे म뀅 सही ह嘀堅:

Statements:  / कथन:

No actor is a director. / कोई भी ए堀儇र िनदशेक नही ंह।ै

Some directors are financers. / कुछ िनदशेक िव븀�दाता ह嘀堅।

 

Conclusions: / िन嘀堅ष开뼄:

I.  No actor is a financer. / I.  कोई भी ए堀儇र िव븀�दाता नही ंह।ै

II.  A financer can be an actor. / II. एक िव븀�दाता एक ए堀儇र हो सकता ह।ै

Only conclusion I follows / केवल िन嘀堅ष开뼄 I िनकलता है

Only conclusion II follows / केवल िन嘀堅ष开뼄 II िनकलता है



Either I or II follows. / या तो I या िफर II िनकलता है

Neither I nor II follows. / न तो I और न ही II िनकलता है

Correct Answer :­Only conclusion II follows / केवल िन嘀堅ष开뼄 II िनकलता ह ै

100)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह कथन चिुनय ेजो
िदय ेगय ेकथनो ंएव ंिन嘀堅षᰀꐆ के बारे म뀅 सही ह嘀堅:

Statements: / कथन:

Julie is a film.  / जलूी एक िफ淼� ह।ै

Some films are beautiful. / कुछ िफ淼�뀅 सुंदर ह嘀堅।

 

Conclusions: / िन嘀堅ष开뼄:

I. Julie is beautiful / I. जलूी सुंदर ह।ै

II. Julie is not beautiful / II. जलूी सुंदर नही ंह।ै

Only conclusion I follows / केवल िन嘀堅ष开뼄 I िनकलता है

Only conclusion II follows / केवल िन嘀堅ष开뼄 II िनकलता है

Either I or II follows. / या तो I या िफर II िनकलता है

Neither I nor II follows. / न तो I और न ही II िनकलता है

Correct Answer :­Either I or II follows. / या तो I या िफर II िनकलता ह ै


